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Candidates are required to give their answers in their’
own words as far as practicable ‘

Iliustrate the answers wherever necessary

( Long Answer Type Questions )

Answer any two of the following, taking at least
one from each Group :  15x2

GROUP-A

1. (a) What is a truth functional compound
statement ? Give example. 3
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(b) Define with examp:les'the different types of
truth functional compound statement. 10

{c) Distinguish between inclusive and exclusive
sense of the word ‘or’. 2

." (a) What is existential fajlacy ? 4

(b) When a syllogism is said to be invalid due to
~ existential fallacy ? 3

(c) Give two examples of invalid syllogism that

involve existential fallacy. 8
(Use Venn diagram).
(@) What is a syllogism ? 3
(b) Explain with concrefé examples the different
types of syllogism. ' 12
GROUP - B

Explain and examine after Copi, Mill’s method
of agreement and difference. 15

What are the criteria used in judging the
acceptability of a hypothesis ? Explain. 15
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6. What is an explanation ? Distinguish between
scientific and unscientific explanation. 15

( Semi-Long Answer Type Questions )

Answer any five of the following, taking at least
two from each Group : 8§x35

GROUP — A
7. (a) Reduce the following sentences to standard
form of categorical proposition : 242

(/) He sees not his shadow who faces the sun.

(i{) He never drives his car to work.

(b) Express the following in the Boolean
notation and symbolize them by means of
Venn diagram. 2+2

(/) only non-§ is non-P
(ii) ghost exists. '

8. (a) What s truth functional argunnerif? Give
example. 4
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(b) Given that ‘some scientists are not poet’ is
true what may be inferred about the truth or
falsehood of the following : 2+2

(/) No non-poets are scientists.-

(ii} Some poets are non-scientists.

9. Identify the form and test the validity of the
following argument by means of Venn
diagram : 4+4
(/) No one present is uneducated. No member

is absent. Therefore, all members are educated.

(if) Some reformers are Fanatics, so some
idealists are Fanatics, since all reformers are
idealists.

10. (a) According to Boolean interpretation
conversion by limitation is not valid.—

Explain. ( 3

(b) Explain why on Boolean interpretation only
contradictory relations remain in Force. 5
11. (@) Whatis dilemma ? : 4
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12.

13.

(35)

(b) Conversion of ‘O’ proposition is not
possible.— explain. 4

GROUP ~ B

Symbolize any four of the following using
quantifiers, individual variables etc. : 2% 4

(a) Achild pointed his finger at the emperor.
(b) No car is safe unless it has good brakes.

(¢) Any tall manis attractive if he is dark and
handsome. :

(d) Not all tools that are cheap are either soft or,
breakable.

(e) Jackson is a good singer.

Prove the invalidity of the followihg (any two): 4 x2
(@) Eo(FVvM)

M>(H-L)
~H/: E-SL

(b) (3x)(Bx-~Cx)
(x)(Dx o~ Cx)
- {x) (Dx o Bx) '
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(c) Some politicians are leaders. Some lcaders
are not orators. Therefore some orators are
not politicians.

14. Cohsfmct formal proof of validity (any two) : 4x 2
@) ZoZ2)D(AD AU AD(ZDD/ " ADA
(h) (x)(&x > ), @x)ix -~ Jx} o (x)(Jx 2 )

(¢) Gold is valuable. Rings are ornaments.
Therefore gold rings are valuable ornaments.

15. Write short notes : ' 4+4
(/) Bad analogy
(if) Singular cause.

16. Answer any two of the following : 4x?2

{a) What is the probability of getting at least one
head in the three throws of a coin ?

(b) Letus suppose that there are four packets of
cards and one card is drawn from each
packet. What is the probability that all of
them are aces ?
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(¢) What is the probability of rolling 3 dice so
that the total number of points which appear
on their top faces is 3 ?

( Short Answer Type Questions )

Answer any five of the following, taking at least
two from each Group : _ 4x5

GROUP — A
17. Identify the form and discuss the validity or
invalidity. ;
Either John is in London or in India. He is in
London. So he is not in India. 4

18. Explain with the help of example's the difference
between complementary and contrary terms. 4

19. Explain in which step the argument commits the
existential fallacy : 4

It is true that : No men are mortal.
It is false that : All men are mortal.
It is true that : Some men are not mortal.
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20.

21,

22.
23.

24.

28,

(8)

What is material implication ? 4

Prove that ; No valid standard-form categorical
syllogism with a particular conclusion can have

two universal premises. : 4
" GROUP -B

What is formal proof of validity ? 4

Use truth table to characterize the following as

tautology, contingent or contradictory : 242
(i) lpo@>p>{g2>9) >~ o)
(i) {p2 P)2(g2~q)l=(rv~T)

If 4, B, C true and x, y, z are false, determine the
truth value of 2+2

() (XoF)>~B]o~2

(it [(~B2>Z)>B} >~ 2

Use truth table to determine the validity of the
following : 2+2
() pogli~qD~p

(if) ;):Jq/:. po@-q)
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26. What is the probability of getting either the king
or an ace of the diamond in drawing from a deck

of playing cards ? 4
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